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Use the diagram to answer the following. P A

1. What triangle appears to be congruent to APAS?
2. What triangle appears to be congruent to APAR? S

3. If PS = RS and PL = AR, what additional information
would you need to prove APSL = ARSA?

4. If /LPA = /ARL and PL = AR, what additional L R
information would you need to prove ALPA = AARL?

Use the marked diagram to state the method used to prove the
triangles congruent. Name the additional corresponding parts that
could then be concluded to be congruent.

5. p 6. - U Vv 7. M

Complete the proof by supplying the reasons.

8. Given: YX = WX Statements Reasons
ZX bisects LYXW. 1. YX = WX 1. 9
Prove: YZ = WZ 2. 7ZX bisects LZYXW.|2. 2
X 3. LYXZ=/WXZ |3. 2
/\ 4. X7 =X7 4. ?
Y 2 w 5. AYXZ=AWXZ |5. ?
6. YZ=WZ 6. ?
Z
Write a two-column or a paragraph proof.
9. Given: MQ = NT 10. Given: O is the midpoint of NP.
MQ || NT LN=/LP
Prove: MN =TQ Prove: O is the midpoint of SR.
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